Year 9 Measurement: Practical

Name_________________________

This task assesses length, mass, capacity and time.


PART A: PRACTICAL

Measuring devices and a box that is partly filled with sand will be provided.

1
a)
Measure the length, width and height of the box in cm.

b)
Weigh the box in grams.

c)
Measure the capacity of the sand in the box in mL

2
Take a handful of sand and drop it onto a piece of A4 paper.

a) Calculate the area of paper that is covered by your sand.

b) Describe fully how you did your calculation.

c) Describe how you might do your calculation another, more accurate way.


PART B: WRITTEN
1 a)
Susan travels to Whangarei for the weekend.  



Whangarei is 190 km away from Auckland and takes her 2 hours for the 



drive. 



What speed was Susan travelling at?


b)   Convert 190 km to metres.

2
Moana wants to tape the TV programme: Popular, which comes on at 7:30 pm.

Her video recorder is in 24 hour time – what time will she have to set the recorder to come on. 

3
The dimensions of a rectangular box are 25 cm by 30 cm by 20 cm.  

What is the volume of the box?

4 The rectangular box is filled with golden syrup.  

1 cm3 of golden syrup weighs 2 grams, 

a)
Find the weight of the golden syrup in the box.  


Give your answer in grams.


b)
Convert this answer into kilograms.

5
Pradeep is contacting his friend Brandon in Los Angeles on the internet.  

He knows Brandon is in the Chat Room between 4 – 6pm.  

Los Angeles is 20 hours behind New Zealand.  

Between what times (NZ time) should Pradeep enter the Chat Room.  

Explain, clearly showing all working, how you got your answer.

Answer in 24-hour time.

ASSESSMENT SCHEDULE

Year 9 Measurement:  Practical

	
	Assessment Criteria
	Task

No
	Evidence
	Judgement
	Sufficiency

	Achievement
	Use equipment to make measurements

Use measurements in calculations and conversions to solve simple problems


	A 1a

A 1b

A 1c

B 1b

B 2

B 3

B 4b
	Length, width, height

Weight in g

Capacity in mL

190 000 m

1930

25 x 30 x 20 = 15000 cm3

30 kg


	2 /3 correct
	 Achievement:

2 of Part A 1a, 1b, 1c

and

3 of Part B 1b, 2, 3, 4b

	Merit
	Solve measurement problems


	B 1a

B 4a

B 5
	V = 190 

        2

= 85 km/h

30 000 g

20 hours ahead

= 1200 - 1400
	No alternatives 
	Merit:

Achievement 

plus

2 of Part B 1a, 4, 5

	Excellence
	Plan, carry out and evaluate a measuring task


	A 2
	Area is correctly calculated with full working shown

Evaluation considers other shapes that could have been used for the model
	Allow minor errors
	Excellence:

Merit 

plus

Part A 2

	Sufficiency:  Students also need to be assessed in their ability to solve more complex measurement problems.
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